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Answer either in English or in Assamese.

1. Choose the correct answer of the following :
(any ten) 1x10=10
Feaie Resmres 79 9% Sl A el ¢
(Reica 72)

‘(a) An expression of interest to buy a

showcase item from a shopkeeper is
a/an

Contd.



WRAITR SIS g (AF Qe T i
N SN2 AT T WS (Fi 4901 350
AP i ?

(i) acceptance / ﬁ?f%

() request / I
(i) choice / *i%%

(iv) offer / &=

(b) The Indian Contract Act, 1872 came
into force on

SO B SIfEd, Svas W TEEe Cafte
(i) 1st January, 1872

S GIREIRT, 4R
(i) 1st April, 1872

S fElE, strag

(iiy) 1st July, 1872

S TER, Stas

(iv) 1st September, 1872
> (BC¥FF, Sba
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(c) An agreement to procure a government
job is a/an
DITISI DI TR S AW S TS
(1) 1illegal agreement
S THE
(i) unenforceable agreement

IR ) IMEE

(it) void agreement

3ifos 7w

(iv) voidable agreement
ifosical S

(d) A contract of indemnity is a

o7 pfe <l

(i) future contract
SR pie

(ii) wagering contract
G 4El piE

(iii) contingent contract
Xl AT pie

(iv) quasi contract
7 B
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(e) In an agreement to sell, the pro'perty in
goods is transferred

! I9aE 799 T9 TBEA 3

(1) at present

JETTe
(i) in future

SRToe
(iii) both, at present and in future
(iv) None of the above

8] Ol 7

(f) The provisions regarding maximum
number of members in a partnership
are given in

SAMIS] WA FAET ] ey Fres
ffafRae 9l =iz 2w

() the Contract Act

(i) the Companies Act
SRRICIRCIED

() the Partnership Act

. SRATIS e

(iv) the Societies Registration Act

AR ASimae oz
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(g) Reconstitution of partnership firm
requires

SIS ef S0 sfons e 2
(i) in case of admission of partners
AR ATefed (Ao
(ii) in case of expulsion of partners
SA IS AREI CFI©
(iij) in -case of retirement of partners
SAWIE S (RS

(iv) All of the above
G FRCEIEE

(h) Who appoints the Central Information
Commission ?

(FUE O SFEd (B [IG M
(i) rslihe Premdent of Ind1a
(i) The Prime Minister of India

SR 2Ll

(iii) The Chief Justice of
Supreme Court

THooN IETI AT I
(iv) None of the above

eog GbI8 2
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(i) The Rights to Information Act 2005
came into force on

3006 b9 AR SR T @[ (3w
() 12th July, 2005 .
SR GElZ, 200¢
(i) 12th August, 2005
S 918, 00¢
(i) 12th September, 2005
SR (bR, 00¢

(iv) 12th October, 2005
5% SIS, 00¢

() All agreements are contrécts-
AR IHEE2 i |
(i) Correct / &%
(i) Incorrect / Si&g

(k) An agent cannot work for more than
one principal.

TGOS SfHF T G A G oz
I FEE @RE

() Correct / ©a
(i) Incorrect /| W¥&
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() A minor can appoint an agent.
e e dfeoffd [Heisl [T 2AiE |
(e Correct |
Y
(ii) Incorrect

ek

(m) Sale is not an executed contract.

@1 @i T=iifre pfe =7
(/BN Eostect
ke

(i) Incorrect

el

(n) In case of defective dehvery, the buyer
can reject the goods.

GB5) M2 (A, (@Ol o eI T
A |

(i) Correct
iy

(it) Incorrect

O[S
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(0) Registration of limited liability
partnership shall be with the Registrar
of Companies.

FATPRRI AGETsS em—ﬁ‘iﬁ—mﬁ*ﬁ
SAIE] elforig G =T b

(IE SR @orrect
LT

(i) Incorrect
Sl

(p) A bill of exchange can be crossed.

e Je s SfRa 41|
(s Correct
T
(ii) Incorrect
O[&
(@@ A cheque needs acceptance.
GO FiFro AT |
(i)  Correct
G
(i) Incorrect

Rl
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(r) . Partial endorsement is valid.
SIS AP (@ 2RI |
(1) Correct

S

(i) Incorrect

IR

2. Answer any five of the following questions

in brief : 2x5=10
fitsie =emz Rl oo Ted fFrdl &

(a) What is an offer?

AT DI QT2

(b) Write two differences between

agreement and contract.

E® S pied e o1 A9 {5

() Write two elements of a contract of
indemnity.

wfosacl pfes 71 Somie Tl
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(d) Write two liabilities of surety.
SifswRE 76 miEg B |

(e) What is contract of sale ?

Rl ofe S @i

() Write two differences between sale and
bailment.

- Rl pfe oI aepisit pies rere 767 el
fo12) |

(g) Write two differences between
partnership and company.

SRAMIN AU S @R e 757 A<y
IGEIIN

(h) Who are the parties to a promissory
note ?

Ao AGq 2R (T @

(i) Write two differences between limited
liability partnership and company.

Aifire wifies SNmR) A9 o @R
Nere 761 Sty Bl |
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Write two essential features of

negotiable instruments.

G WETE 70 SO CAreIe) ol |

]

3. Answer any four of the following questions :

S5x4=20

ﬁm@mﬁmﬁmﬁﬁ?@@ﬁm

(@)

(b)

()

@)

Briefly state the essential elements of
a valid contract.

@4 e TSR SAMTR HAE
1 |

Explain the duties of bailee.
ST FEIHAR T 4 |

Briefly discuss with examples the rules
relating to contingent contract.
FHATICACT pied FMo© 2 el
TrIZePIR HCE STl 51 |

Distinguish between sale and
agreement to sell.

G wiE [ IVEes qere Al (TYE! |
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(¢) State the features of limited liability
partnership.

%WWQWWW?@
<41 |

(f) State the essential elements of
partnership.

SRS &SV SIS SoAMZ 96871
Sailll

(g) Distinguish between promissory note
and cheque.

Afoke olg Wik (5T TS iRy B |

(h) Briefly explain the different kinds of
endorsements.

ﬁfmwﬁawﬁm%aﬂm@;

4. Answer any four of the following questions
- in 600 words each : 10x4=40

maoomwﬁ"m“m%m
IR Ted fodl ¢

(@) What is contract? State the various
types of contract. 2+8=10

& e msﬁﬁmma®W|
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' (B)

(©

(d)

()
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What is void agreement ? Discuss the

different types of void agreements under

the Indian Contract Act, 1872.
2+8=10

fes TEe FIF @AIET? SRS pie wig,
50437 SRS fifen Al aﬁ ERERTDEY
SO 4l |

Discuss the rights and duties of an
agent. 6+4=10
o elfSfEE SfEeE O FEGIIR A0l
341 |

Discuss the rights of surefy.

GifMvIe SIEAFIPTER Sl 5 |

Who is an unpaid seller ? Discuss the
rights of an unpaid seller. 2+8=10

s el @i 2 s RueoR
SRR, SCEADA

State the essential elements of a
contract of sale. Briefly discuss the

rules regarding delivery of goods.
4+6=10

et pfe TSR SoAMFTE <Al I
o{eljd 516l TP (AT DA SICTIoATl 1 |
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() Explain. the procedures -of registration
of partnership firm. Also state the
benefits of registration of partnefship
firm. - : 6+4=10

ORI &SV AGRT AT i
41| oI AW eif oD AGTET e
efert ¥l

(h) (i) Discuss the advantages of limited

liability partnership. S
e wifkes SR efevns ARaERR
 (ICeTIbel R4

(i) Distinguish between limited liability
partnership and partnership. 5)

e A SRAmE oD o
SRS 2foving Tere 2w &l |

() What is crossing of a cheque ? Explain
with examples the various types of

crossing of a cheque. 2+8=10

5T FATT FF Qe e Trizaans [fey
PRI 5P ([ i 71 |
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() State the obligations of public
authorities under the Right to
Information Act, 2005.

300¢ bod N RPN e AR el
TYP MIRGTR 990 4|
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